(2—Digit by 1-Digit with Remainders )

Name:
( Partial Quotients Division \,
g .
Solve using partial quotients.
Example 18 1 N qa.
div‘isor——» 3_{ 5 5 619 1
dividend— 30 "3 % ]
Find an easy 2 5
g?gigl?rlzr?éfszek)frocf - 2 LI' 3 X8
from the dividend. 1 iR
Repeat gnﬁl the
The civsor 00 10+8=18
reach zero. remainder Add up the multipliers.
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ANSWER KEY (2-Digit by 1-Digit with Remainders )

( )

Partial Quotients Division

\\\ ,/
Work will vary.
a 1/ 5r 1
Solve using partial quotients. 619 1
-6 0 6x10
31

10+ 2=12 ' oU + 7 =37
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